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Section I: Reading 

1. The important invention in the surgery area of medicine, was the anesthesia. 
2. Many years ago, if one would go for a surgery, the surgeon would beat the patient with a hammer until 

he faints, and only then, they should operate on him/her. 
3. Many years ago, children born prematurely died because of the lack of medical aid. They didn’t 

have an environment that was much closer to his/her mother’s womb, such as an “Incubator”. 
4. Some of the diseases that were eradicated by vaccination are polio and small pox. 
5. The development of medicine. (Other answers can also be accepted as long as they fit as the title 

of the text.) 
……………………..……………………………………………………………...…….. 5 x 1,0 = 5,0   marks 

 
Section II: Grammar 
6. A 
7. C 
8. C 
9. C 
10. A 
11. A 
12. C 
13. C 
14. B 
15. A 
16. D 
17. C 
18. D 
19. B 
20. B 
21. B 
22. B 
23. C 
24. A 
25. D 
……………………………………………...…………………………………………20 x 0,5 = 10,0 Marks  

Section IV: Writing 
26. (Check the marking scheme) 
…………………………………………………….…………………………………………….....  5,0  Marks 

 
 

TOTAL  ……………………………………………………………………………………..…...  20,0 Marks 
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Writing Marking Scale 
 
 

Band Description 
 

5 
Marks 
20 - 18 

 
Effective communication with accuracy 

The writing effectively addresses the writing task. It demonstrates a well developed logical 
organizational structure with clearly stated main ideas and sufficient supporting details. It has 
almost no errors of vocabulary, spelling, punctuation or syntax. No difficulty is experienced 
by the reader. 

 
4 

Marks 
17 – 14 

 
Good communication with few inaccuracies 

The writing adequately addresses almost all of the writing task, though it deals with some 
parts more effectively than others. It demonstrates a generally well developed logical 
organisational structure with main ideas and supporting details. It has relatively few 
significant errors of vocabulary, spelling, punctuation or syntax. Very little difficulty is 
experienced by the reader. 

 
3 

Marks 
13 – 10 

 
Acceptable communication with some inaccuracies 

The writing adequately addresses most of the writing task. On the whole, it demonstrates an 
adequately developed organisational structure, though there may occasionally be a lack of 
relevance, clarity, consistency or support. It has occasional errors of vocabulary, spelling, 
punctuation or syntax, which may sometimes interfere with meaning. Occasional difficulty is 
experienced by the reader. 

 
2 

Marks 
9 – 7 

 
Problematic communication with frequent inaccuracies 

The writing only addresses some of the writing task. It demonstrates an inadequate 
organisational structure, and there may quite often be a lack of relevance, clarity, consistency 
or support. It has frequent errors of vocabulary, spelling, punctuation or syntax. Some 
difficulty is experienced by the reader. 

 
1 

Marks 
6 – 0 

 
Almost no communication 

The writing almost completely fails to address the writing task. It has  neither  an 
organisational structure nor coherence. Almost all sentences contain errors of vocabulary, 
spelling, punctuation or syntax. Even after considerable effort on the part of the reader, the 
text is largely incomprehensible. 

	


